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A P
EK 20

Studio 150

FK 180

Kamera 20

Avid 20

EDV, Büro 10
SUMME 200 SUMME 200

A E

Kosten 72 Umsatzerlöse 100

Zinsen 18

G 10

SUMME 100 SUMME 100

Bilanz: Ausgangsfall

G+V: Ausgangsfall
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Fall 1:
Zinssatz steigt Umsatzerlöse 100
auf 12% = Kosten 72
21.600 (+3.600)

Zinsen 21,6

G 6,4
SUMME 100 SUMME 100

Fall 2:
Zinssatz steigt Umsatzerlöse 100
auf 15% = Kosten 72
27.000 (+5.400)

G = 1
SUMME 100 SUMME 100

Fall 3:
wie Fall 2, jedoch Umsatzerlöse 70
Umsatzeinbruch Kosten 72
auf 70.000

Zinsen 27

SUMME 99 SUMME 99

G + V (Fall 3)

Verlust 29.000

G + V (Fall 1)

G + V (Fall 2)

Zinsen                                           27


